AR 6 4RI A BURRHR M

(100 x4 50)

i3] o [y s i Woa ko ES
(1) 3 3
10
(2) 3 )
(1) | (3) | 3 8a - 3b
(4) 3 47
(5) 3 20a + 9
(2] 4 x=-2=/13
(F3) 4 n=14
6
[F:ﬁ4] 4 y—_ ;
(1) 2 5 (i)
(R5) 2 7| 2 180 ()
2
1 2 (E#) GJ GD, IDbIEE LT 5,
(F6) 4 /x =22 (%)
(1) 4 7
—MER T xkn, EEERTY yknEo/2E T 5L
x+y =130
INEFENT, x =18, y =112 o — 0 . -
(B2 6 XLy, 1EfRIE mfﬁ%ﬂjiﬁ%@f
30 80 Do BEREEIZEHET 5,
Lo,
— i ERS 18 km, = E RS 112 km
(F3) 4 Y
2
(F4) 4 =
(1) 5 54+3410=15 ERE—fE2RLZZH DT
%éo
"5 300, n, n+1, n+8EEXENLINE, 3OO
" (2) - n+ (n+1) + (n+8) =3n+9=3(n+3) EfRE—plzRL7zbDT
ERY, n+ 3B, 3(n+3) X3D/BEETH S, H 5o BEFEIIZEHET o
L oT, 320HBOFNTDOTH 3OREEKIZHE 5,
(1) 3 0=y=8
__ 2 4
(2] 4 y=-3x + 3
(FI3) 5 AB:BD =3:1
3 _9)Y (.3 _9 - 3
(F4) 6 (2 - ) ( > -2 ) AT
(F1) 3 BH = v29 (cm)
(F2) 4 Z x =110 (%)
3 )
(1) 5 3 (cm?)
ABCE £EADCGT, ELDY,
BC =DC - @
CE =CG SRR )
%7, /BCE =90° - ZECD, /DCG =90° - ZECD & V),
s SRR oDCG ool EfE—PIE R L7 b 0T
(2) S | @ @ B®Lh2MoOBEZOEOBBEINETRELSD, 4 e

ABCE = ADCG
£ o7T, £ZBEC=2DGC
$72, £ZDGC = 90° 7255, £ BEC = 90° RO

ZCEH=90° 7256, @k, BEC+ 2 CEH= 90+ 90° = 180°

L7275 T, 3MB, E, HiZ—EMHEIZIES,

B 5o BIREHIZRHMS %o




